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Topic:- General Knowledge and Logical Knowledge

1) The RTI Act received presidential assent on ./ GTITL&GI'Ig Sftrrag 1 & fem TI'QTIﬁf
wiepfd fhedt 4t

1. 15™ August 2005 / 15 3T 2005
2. 15™ March 2005 / 15 | 2005

3. 15" June 2005 / 15 S 2005

4. 15™ July 2005 / 15 JAT 2005

Correct Answer :-

« 15% June 2005 / 15 S 2005

2) India's first Bio-CNG plant producing CNG from agricultural residue is located in . /QTRT

RN T Hesil S99 I HRd BT UYH S9-He-sil wic ARG 2|
1. Jharkhand / IIRWES

2. Telangana / SIHIE]

3. Maharashtra / HIRTY
4. Madhya Pradesh / TV

Correct Answer :-

e Maharashtra / IIE'RTg

3) The series given below contains a sequence of numbers. Identify the incorrect combination: / = a Tlg %I_EFIT ﬁ,

T3} BT TP HH SUFRIA & | Tad JaIeH UgdI-u:

8, 14, 26, 48, 98, 194



1. 98
2.48
3.14

4. 194

Correct Answer :-
o 48

4) The series given below contains a sequence of numbers. Identify the incorrect combination: / = & T|'5: %[@?IT ﬁ:,

=131 BT TP HH IR & | TeTd Aol UgdT-e:
23,29, 31, 37, 39, 44

1.31

2.39

3.37

4. 44

Correct Answer :-

5) Select the option that is true about the Statements and Conclusions given: / 3 e s T aﬂﬁm <t fo
fu T By ik frew ol & IR & WET @

Statements: / PY:

Some girls are dancers / F© TSP TdD! &
No girl can sing / aﬂs‘asﬁ NIEHEEX %

Conclusions: / fAeh:
I. Boys can sing / FI?;%? M qhd %
II. Some dancers can sing / PO TdP T Hhd %

1. both conclusion I and II follows / 5B 1 3R 11 G ST A %

2. only conclusion I follows / Had ﬁm’mfl STV pdl %

3. only conclusion II follows / Had ﬁ’lﬁh_‘sf 1T 3R] Hdl %

4. neither conclusion I nor conclusion II follows / ?’r fAspd 1 3R A ?3[ fAspy 11 STTARUT GG %

Correct Answer :-

e neither conclusion I nor conclusion II follows / _Eﬁ ﬁ'@ﬁﬁh G?IT - Bﬁ ﬁ'@ﬁﬁf 1T 3T GG %



6) Select the option that is true about the Statements and Conclusions given: : / 3 e sTaaq

PIfre it f 3T e Sy ok Freeyl & ar & T8t 2

Statements: / D Y:
Some kids are teenagers / PO T fpair %
Some teenagers are intelligent / PO freR §@TI'FT %

Conclusions: / frsd:
I. Some Kkids are not intelligent / P& T g'i:?ﬂ:lﬂ qﬁ %
I1. Some teenagers are not intelligent / S foramR g@'ﬂﬁ TR e

1. both conclusion I and II follows / FI&pY 1 3R 11 G STTERUT Y %’

2. only conclusion I follows / Had fspy | TR HdT %

3. only conclusion II follows / $Had FhY 11 ST hdl g

4. neither conclusion I nor conclusion II follows / 7 & fewd 1 3R 1 € fFAepef 11 SR A G

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 B FTSHY 1 3R 7 81 F5hY 11 3[IXRUI Hd &

7) Select the option that is true about the Statements and Conclusions given: / 3 ICEIR IR pE]

Hiforg i o g T et oite Pt A e 2.

Statements: / DY:
All wires are threads / g4} R 4T %
All threads are ribbons / IH 4T Wid %

Conclusions: / fIs®:
L. All ribbons are wires / I WId YTY %
I1. All wires are ribbons / Y} dR WId %

1. both conclusion I and II follows / ﬁ'@b_ﬁfl GﬁT 1II ?ﬁ:ﬁ STTERUT m %

2. only conclusion I follows / Had fTshy [ IR0 hHdT g

3. only conclusion II follows / FHad (spY 11 STTERUT pdT %

4. neither conclusion I nor conclusion II follows / - ?)f fpy | C’ﬁ? - a sy 11 SR GG %

Correct Answer :-
« only conclusion II follows / FHad (B 11 SR Hl g
8) Who is the Home Minister of India? / HIRd & e Pkt %?

1. Arun Jaitley / 3R STea!



2. Piyush Goyal/qﬁ'{q‘ [y
3. Rajnath Singh / NSERINERH
4. Nitin Gadkari / Ffd= Tt

Correct Answer :-

» Rajnath Singh/?l@qlqw

9) Who is the Prime Minister who has had the longest term in office? / g YYTHA P % IGECIR:CE
et 3rafy 1 FriETa 3BT 32

1. Jawaharlal Nehru / STTER ATd g%

2. Manmohan Singh / II:FJ:hE:[ ﬁi{s’

3. Indira Gandhi / a7 Tieft

4. Lal Bahadur Shastri / ¢ITc] dfgTgX Rl

Correct Answer :-

« Jawaharlal Nehru / STATER ATd g%

10) How many political parties in India have the National Party Status? / HRd H fhaq Iefae gal

& UTH VP19 & &1 golf (AN UTel wed) 82
1.7
2. 12
3.5

4.3

Correct Answer :-

e 7

11) The Judges of the Supreme Court can be removed by / Tars ararag & arardien & fead g
T T Tl §2

1. Parliament / 99¢
2. Law minister / I e}
3. The President / Tl'gqﬁf

4. Prime Minister / T HIT



Correct Answer :-

e Parliament / 949G

12) Satish Dhawan Space Centre is located at / TR A Siafvel by T fRua %I
1. Thiruvananthapuram / ﬁw_'ﬁ'w
2. Sriharikota / %ﬁeﬁﬁa

3. Narendrapuri / '_‘ﬁﬂg_é
4. Mahendragiri / J:I%'ﬁli 3

Correct Answer :-

e Sriharikota / ’}HB IDIC]

13) Which state has the maximum forest cover in India? / HIRd ¥ foa =g ¥ sifYpau a9 AHTSTqH

(PRE FWR) §?

1. Jharkhand / IRWES

2. Uttar Pradesh / 3R UG
3. Haryana / giaron

4. Madhya Pradesh / H&] ]

Correct Answer :-
« Madhya Pradesh / 7€ UG

14) Which Article of the Constitution of India provides special status to Jammu and Kashmir? / HRd &

TIIYUTT BT PIH-9T 356 o U9 HIUR ! faRiy RS wem Fears?
1. 371
2.370
3. 368

4. 372

Correct Answer :-

* 370



Which is the first State in India to achieve 100% electrification of households? / HIRd § 100 %

fagadi® T UTe -+ 919 IS B AT ]2

1. Gujarat / 7]SIRTd
2. Andhra Pradesh / &Tﬂm

3. Meghalaya / oI}

4, Madhya Pradesh / H&J Tl

Correct Answer :-

e Gujarat / 7]SIRTd

16) What is the probability of getting a face card from a pack of 52 cards? / 52 Ul & 959 A B TS

(@ a1l U= & frpant &) Wik w82
1. 1/52
2.2/13
3.4/13

4. 1/26

Correct Answer :-

e 4/13

17) The BRICS Smart Cities Conference was held in 2016 in / 2016 ﬁﬁﬁ '\‘FI'I'(.F R CaCi |
A maifora ot it A

1. Shillong / 1@
2. Jaipur / STYR

3. Indore / 3@?

4. Raipur / [IYR

Correct Answer :-

 Jaipur / SIUYR

18) If the day before yesterday was Monday, then when will be Friday? /!T% CiG] gdPd I tl?ﬁ Ca)
a1 AHaR U1, 9@ YHaR &a g

1. Three days after today / 3TST ¥ T fG-1 IYTd

2. Day after tomorrow / LRES|



3. Tomorrow / 3= ATl B

4. Two days after today / 3{TST & e ugrd

Correct Answer :-

» Day after tomorrow / BEESH|

19) If MOTHER is coded NPSGGT, then how is DAUGHTER coded? / Gf& MOTHER &Y NPSGGT A

PifSd forar wirar 8, @Y DAUGHTER $Y 9 SIS far smam?
1. EBTFJUCO
2. EBTFJVCP
3. EFTBJVDP

4. EBTFHVCP

Correct Answer :-
o EBTFJVCP

20) If FRIEND is coded IRFDNE, then how is RELATION coded? / Gf& FRIEND &Y IRFDNE ¥ ®ifad

forar Srar 8, @ RELATION ) $1 Sifsd frar S
1. ALERTION
2. ALERNOIT
3. NOITALER

4. RELANOIT

Correct Answer :-
e ALERNOIT

21) If MKAGTUDPHX is coded 2876354019, then how is 307524 coded? / ?T% MKAGTUDPHX Al
2876354019 T Hifsd far &ITdT 8, dt 307524 Ft HQ Hifsd fwar sram?

1. TPAMUD
2. TPXHGD
3. TPAUMD

4. TDPXHA

Correct Answer :-



« TPAUMD

22) Who among the following is the youngest Indian grandmaster in chess? / Fuifead G Tad o9

S BT IS DT HRATT ASHRE I 82
1. Padmini Rout / TR A

2. Pendyala Harikrishna / Ul RPN

3. Parimarjan Negi / OfHATS 0

4. Pravin Thipsay / g4t fow

Correct Answer :-

 Parimarjan Negi / OfHATS 0

23) Tipu Sultan was the ruler of / zﬂqﬁwﬁw & & =E® A:
1. Mysore / ﬁﬂg

2. Hyderabad / %ETWI?{

3. Ahmednagar / SlgHQITIR

4, Ahmedabad / AgHqIdIq

Correct Answer :-

» Mysore / ﬁﬂg

24) There are 12 Jyotirlings in India of which two are in Madhya Pradesh. They are located in / HIRd H

12 ST 1 79 & & 7Her Uew § Fgl (RUA 32
1. Ujjain and Omkareshwar / IoH 3R NBPRYR
EN N
2. Ujjain and Hoshangabad / 3\ 3R RG]
3. Omkareshwar and Indore / W%R aﬁ? s’élz
4. Bhopal and Indore / HITet 3R $eR

Correct Answer :-

 Ujjain and Omkareshwar / I 3R SHRYR

25) Who was the Prime Minister of India during Indo-Pak war in 1965? / 1965 | Y YRA-UTfbar
IS & UG URd & GUTTHA B A2



1. JTawaharlal Nehru / STATeRATd "8
2. Indira Gandhi / $fex7 TITeft
3. Lal Bahadur Shastri / ¢lc] d8TgY QAT

4. Rajiv Gandhi / JTofg TiTeft

Correct Answer :-

 Lal Bahadur Shastri / ¢II¢] dglgR At
26) Who was the last Mughal Emperor? / 3ifaw HITd JYIC P U2

1. Babur / d[eR

2. Tipu Sultan / TY e
3. Aurangzeb / NI

4. Bahadur Shah 11 / dglgr RIe Iaé g

Correct Answer :-

« Bahadur Shah II / SBTgR 208 fgdia

27) In a certain code language, wela sela tela means hot water bath, jela wela nela means cold rain water,
and nela nala pala means heavy rain fall. Which is the word for jela in that code language? / Y WTH
PIS YT ﬁ, wela sela tela BT Y hot water bath; jela wela nela PT 3 f cold rain water 3R nela nala pala

BT AL heavy rain fall BYAT B | ST BIS HIHT | jela P for€ i Weg &1 3xawTa fHur maT 82
1. hot

2. water

3. fall

4, cold

Correct Answer :-

28) In a certain code language, Hold the line means hode fen ge, Pass the message means fen mesta goka,
Draw a line means hode waj diba. Which is the word for hold in that code language? / T WTH PIS HTHT
ﬁ, Hold the line &1 3% hode fen ge; Pass the message P1 3ref fen mesta goka 3R Draw a line ®1 A hode

waj diba BYAT 81 3T BIS HTNT H hotd & 1T i Rreq &1 swawTa fovar T 82

1. ge



2. diba
3. hode

4. fen

Correct Answer :-

29) The Kohira dam is located in the / H”TI'%?T CIC K R RS R %
1. Dhar / YR
2. Kaimur District / BHR fral

3. Shivpuri / FRIGGE
4. Rewa / 34T

Correct Answer :-

« Kaimur District / HR foTaT

30) The Sundarbans stretch to which neighbouring country of India? / HIRd & fou tl?ﬁ?ﬂ =y
Yexa T g g?

1. Bangladesh / CIRNIERY
2. Pakistan / UTfob &=
3. Nepal / BLIG

4. Bhutan / H{cTq

Correct Answer :-

» Bangladesh / CIRGI A

31) The famous singer Tansen was from / RIS AP a9 8l 9 A2
1. Ujjain / I=H

2. Indore / s_caT

3. Gwalior / TaTferER

4. Bhopal / Hara

Correct Answer :-



« Gwalior / TTfCIAR

32) Ravi is 7 ranks ahead of Sumit in a class of 39. If Sumit's rank is seventeenth from the last, what is

Ravi's rank from the start?/39ﬁ@fﬁ3ﬂ$ﬂﬁ?ﬁ,ﬁﬁlﬁﬁ7w3ﬂﬁ%l qﬁﬁ&l’diﬂw
3/ ¥ FEdl 3, df R F I T I F1 3R

1. 17t
2. 16t
3. 14th

4, 15t

Correct Answer :-

N 16th

33) In the following question, some group of letters is given, all of which, except one, share a common
similarity while one is different.

Choose the odd one out:

/ FFrafafaa uy o, iRt & 3o uqg iy v §1 391 9t &, aa ue &) Siesw, 3 guHar g
SafP T ST 2|

IH A fauH &1 9u4 Fiform:
1. VT
2. PR
3. FG

4. MQ

Correct Answer :-
e« FG

34) Find the odd one out: / Th faum Enaaﬂﬁmf:

8,9,12,17, 24, 32
1.24
2.12

3.32



4. 17

Correct Answer :-

35) Complete the series choosing the missing letter/s: / &l &R/ 3M&R] DI AP %j@?lT G| PR ?ﬂﬁl"{:
PPq _Pq _rpqrrp__qrpq _r

l.r,p,q,1

2.9,9,q, T

3.9,9,p, 9

4.1,4,p,q

Correct Answer :-

36) Complete the series choosing the missing number: / Ul J&HAT AP @l C3| Ul PifoTg:
20,19,17, _ ,10,5

1. 12

2.13

3. 14

4.15

Correct Answer :-

e 14

37) Complete the series choosing the missing number: / ol J&HAT AP @l Gl qrT PifoTg:
1,4,9,16,25,

1. 48

2.36

3.49

4. 35

Correct Answer :-



38) Complete the series choosing the missing number: / &l J=1 AP m G| T aﬂﬁnz:
1,5,17,53,

1. 161

2. 159

3. 165

4. 147

Correct Answer :-

39) Select the option that is true about the Statements and Conclusions given: / 39 LRI aﬁﬁnz

ot i fRw e Sy 3R el & TR § T @

Statements: / DY

Some cats are dogs / P& IEI Qﬁ' %
No dog is black / P13 T HTAT 1] &

Conclusions: / fFsHH:
I. Some cats are black / P& foreett @relt %
II. Some cats are not black / & faeett oreit q'taﬁ'%

1. both conclusion I and II follows / 5B 1 3R 11 G ST A %

2. only conclusion I follows / Had ﬁ'@?ﬁfl STV pdl %

3. only conclusion II follows / Had ﬁ’lﬁh_‘sf 1T 3R] Hdl %

4. neither conclusion I nor conclusion II follows / ?’r fAspd 1 3R A ?3[ fAspy 11 STTARUT GG %

Correct Answer :-

« only conclusion II follows / Had ﬁwﬁf 11 3R Hdl %

40) The place of origin of Son riverisnear_____ . / I Tﬁﬂ DI IPTH RTH & Wl:ﬁ'q%l
1. Dindori / [&SRY

2. Amarkantak / 3R Ch

3. Umaria / SHRAT

4. Khajuraho / @W



Correct Answer :-

« Amarkantak / 3TARHChH

Topic:- Mental Ability and Mental Aptitude

1) Inthe sequence shown below, which figure comes next? JHAE A TR e & 3l BT@% i o7

y VAN
A=\ ?

w

4.

Correct Answer :-




2) Ifthe following two squares shown below overlap, which one of the following options is formed? / T
1 &1 @91 Afaenfug g &1 o 7 & &l9 @1 & faeed a=ar &

v @

%) 7
O
3,
V.

Correct Answer :-

) Which of the following is greater than 5%? | TFAeiEd &7 | &= 5% 8T 87



b
l)‘||w

2.
30
7
3.
65
12
4.

Correct Answer :-

4) 5 ) 3
Which of the following is less than 13;? | feafafaa & & &= 13§ q A 87

110

g

Correct Answer :-

[
|
| -]

o

5)



From a sack of potatoes weighing 120 kg, a merchant sells lots weighing 6 kg, 5%

1
kg, 9;

e

kg, and Ei_—31 kg respecively. How many kg did he sell? / 120 f&arm aoi=1 amer

e & aRT & U AN A HAL: 6 T, Siﬁﬁ:ﬁ, 9% ﬁa‘-ﬂTBﬂTQ% Toham & X1 &7
a9 gt 38 o=y foham el 99 Tz

1 1
30-= / 30= TEam
2 k0 3
1.
1 1
EDE kg Jr:::[:uE fehamm

zmé kg 140% T

3.
101 kg / 101 fan
2 2
4,

Correct Answer :-
302 kg / 30l fam
2 2

HIRE?
Ol &R :
J d b {




2.
3.
4.

Correct Answer :-

7)
.:;
The sum of two numbers is é of the first number. The second number is what
. y 5 i e
percent of the first? fa’fmaﬁiﬂu’mqaﬁrmaﬁé & SET T, TEell WEA &
o= ufderg &2

L 66%

661 %
2

66— %

66— %
4,

Correct Answer :-



8) Khan 's age after 15 years will be five times his age 5 years back. What is the present age of Khan? /

15 T UYTd W DI 3T, 5 T Ugd TSI Y T UiE AT gR1 | WTH Pt adH Y 7 82
1. 15 years / 15 8

2. 5years /5 Y

3. 20 years / 20 T

4. 10 years / 10 CL

Correct Answer :-
e 10 years/ 10 99

9) The Average age of a class of 15 students is 20 years. One student left the class and a new student of
age 20 years joined the class. What is the new average of the class? / U DHET ¥ 15 faenfial # sha
Mg 20 99 81 U faen<df A wen o1 s 3@ 3k 20 adf &1 ve a1 faandf 55 wen o wnfia gan 21
H&IT BT 791 3Id FIT HM?

1. 400 yrs / 400 T
2.315yrs /315 a9
3. 305 yrs /305 Y

4. 300 yrs / 300 Y

Correct Answer :-

e 300 yrs /300 T

10) A briefcase was sold at a profit of 10%. If its cost price was 5% less and it had been sold for Rs. 7
more than the profit, it would have been 20%. Find the cost of briefcase. / T AN BT 10% FAH R
AT TRT AT | A BT 6T Yo 5% HH BT 3R 32 ATH J 7 3 3(RIF TR =71 A1l al SHPT a1H
20% BT 8 | 3 &1 HY Yo F1d B3|

1. Rs. 170/ 170 3qY
2. Rs. 169/ 169 ST
3.Rs. 175/ 175 30

4. Rs. 174 /174 307

Correct Answer :-

e Rs.175/175 300



11) When a book is sold for Rs. 24, the seller loses 20% of its cost. What would be his profit or loss, if he

sells it for Rs. 27? / 19 U Y&IP B 24 TUY H 991 |71 3, A fashar & ST B 10d UR 20% g
gl 21 9fe a8 39 27 TuT H S9a1 & O IS Ay 1 g1f+ w7 gnfie

1. A loss Rs. 3/33@@%
2. AlossRs. 1/1 Wﬁ‘ﬁeﬁ
3. A profit Rs. 4/ 4398 BT Y

4. A profit Rs. 6/ 6 3T BT ATH

Correct Answer :-

. AlossRs.3/3F‘T&ﬁ€Tﬁ

12) What number is such that its 16 % is 1922 / 3t B I F@AT & oTHBT 16%, 19282
1. 1200
2. 1160
3. 1260

4. 1440

Correct Answer :-

e 1200

13) The ratio of ages of X and Y are 5:.4. After 25 years, the difference between their ages will be 20
years. Find the present age of X. /X 3Ry ST BT 3AJUTd 5:4 2125 a9 ugTE, 39t 3 BT 3R
20 9 G| X Pt TAAT 3R T BH |

1. 100
2.50
3.90

4.70

Correct Answer :-

14) A swimmer can swim at a speed of 0.5 m/s in still water. How much distance will he cover in 25

min%es%/waﬂw%aﬁﬁo.slﬂa/@maﬁmﬁﬁvmélzsﬁmzﬁa‘rmﬁg'&aﬁ
T B



1. 450 m / 450 HicR
2. 600 m / 600 TR
3. 500 m/ 500 HIcR

4.750 m /750 HicR

Correct Answer :-
e 750m/ 750 1:1 N

15) If 18 men can finish a job in 26 days, then, in how many days will 13 men finish the same job? /Tl'%

18 T&Y 26 ft # T o1 Y AW B TP d &, a1 I $1 B 13 =9 fban =1 § v s
1. 25 days / 25 fa1
2. 22 days /22 f&d
3. 19 days / 19 fd

4. 36 days / 36 &

Correct Answer :-

e 36days /36T

16) 270 is divided into two parts such that sum of 3 times the first part and 2 times the second part is

630. What is the smaller part?/2703’ﬁﬁ WﬁWWﬁﬂmmW%ﬁ?m ‘l-ITlTa?3'{ﬁ
3R GER T & 2 T BT AT 630 B | Y T HI- TT 82

1. 180
2.90
3.70

4. 120

Correct Answer :-

17) If aline, 10 cm long, is divided in the ratio 3 : 5, then, the lengths of two resulting lines will be: / ?T%

TS 3T, it b 10 At & B 3 ¢ 5 3rqurd # fawnfora 8, aa 1Y ufvomedt Y@msit & awarg ghft:
1. 5.75 cm, 4.25 cm / 5.75 T, 4.25 YA
2. 6.cm, 4 cm/ 6 9T, 4 I}

3.6.5cm, 3.5 cm/ 6.5 T4, 3.5 TH



4. 6.25 cm, 3.75 cm / 6.25 THY, 3.75 A

Correct Answer :-

e« 6.25cm,3.75 cm/ 6.25 9T, 3.75 TH

18) Q is as much younger than R as he is older than T. If the sum of the ages of R and T is 50 years, what

is the difference between R and Q's age?/Q,Rﬁmﬁﬁa%mﬁ?aﬁTﬁm%l 'QﬁR\?rﬁT
T B 3T T AT 50 94 &, Al R 3R Q B MY FT 3R FATR?

1. 25 years / 25 Gl
2.2 years /2 CL

3. 1year/1 GL
4. Data insufficient / ST 3T %

Correct Answer :-

« Data insufficient / €T UATd g

19) In a market survey, 20 % opted for Product A; 60 % opted for Product B; while the remaining
people were uncertain. If the difference between those who opted for Product B and those who were
uncertain was 720, how many people were covered in the survey? / U Wﬂa&‘m ﬁ, 20% A 3dlq A
B T, 60 % = TG B B AT, Tafh A9 @hT ifAfda &1 afe forgia Saurg B I g @ siR
A3 & 39 AR & ot SR 720 ©, A fara) @il 1 Aderor & mfdre fasar war ur

1. 1,800
2. 3,600
3. 1,600

4. 1,440

Correct Answer :-

20) A can finish a work in 18 days and B can do the same in 15 days. If B worked for 12 days and leaves
the job; then, in how many days can A complete the remaining work single-handedly? / A o<l o ot
18 fet & oiik B St wrd @1 15 foAt & = Awpar 81 afe B, 12 31 & forw wrf wrar @ sk e
& Bls a1 ¢ @ 3APaT A T2 5T BT ) fpaq f= & Ry wvm?

1 1
3§daysf 3§ GG



) 7
3§daysf :+§ GG}
2.

4 4
3§daysf 3§ IGG]
3.

3 3
BEdaysf 3§ G
4.

Correct Answer :-

3 3
3§c|a~_.fs / 3§ fe=

21) The sum of the place values of 5 and 3 in the number 364572 is: / 364572 TSI H 5 3R 3 & WY
A1 BT IR 3:

1. 3500
2. 100100
3.5

4. 500300

Correct Answer :-

« 100100

22) By selling a T-shirt for Rs 216, a shopkeeper loses 4 %. For how much should he sell it to gain 12 %
? | E-=1E D1 216 TUA T dTBI, TH GHIIGR DI 4% B g Il 81 12% ATY T H3A & fg 3@
&3¢ foraa # o9t wfge?

1. 552
2. 352
3.252

4. 652

Correct Answer :-

o 252



23) A train travels at an average speed of 50 km for 3 hr, and then travels at a speed of 75 km for 2 hr.

How far did the train travel in the entire 5 hr? /W%?H ﬁ%a"ﬁl'QSO fot &t 3N ra e | AT Bt
%ﬁ;ﬁumzﬁ%%ﬁun%ﬁﬁmﬁwweﬁ%l |yt 5 vel § v frast gff &t arn

1. 300 km / 300 TpHT

2. 275 km /275 Tt

3. none of the above / STRIFd & I OP\IE'::%‘T

4. 250 km / 250 foo et

Correct Answer :-

« 300 km /300 fooe

24) A train passes 2 scoters moving in the same direction. If the train travels at a speed of 60 kmph in 30
sec and 90 kmph in 45 sec, then what is the length of the train? / HHIT fe=m H ST ?% 2 Eg??}f G| Wiﬂ
UR St 21 afe 30 Apvs T ¥a 60 frlt ufdy et 3R 45 Ao & 90 faft ity der &Y e S amn
FI B, A ¥ B TS TR

1. 800 m / 800 HIcX
2. 520 m /520 HIcR
3. 600 m / 600 TR

4.750 m /750 HicR

Correct Answer :-

« 750 m/ 750 Hicx

25) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7o f&d M R el & 9 i f&d M ud & die 9w 9149 91 U@ 61 02

Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(i) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia



(ii) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(iii) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(iv) Kedrick Shaw
72 Glemwood Drive, Thornton,

NSW 2322, Australia

4, i1
Correct Answer :-

o iv

26) Abhi and Prem together have Rs. 3,000. Even after Prem gives Rs. 400 to Abhi, he finds
1

that he has 4 the amount Abhi has. How much money does Abhi have now? / 3fH R UT &
URT $ 3,000 WA | gTifp, 3 Pt 400 TUT S & ULYTd, UH oI J1d gidT @ b 3T Uy oif ot
1

RIRT P74 21 9l T &, o o & aifhr & ure Reaeht eI 21
1. Rs. 400 / 400 ¥

2. Rs. 1,000 / 1,000 U

3. Rs. 800 / 800 UL

4. Rs. 600 / 600 3T

Correct Answer :-

« Rs. 600 /600 3TT



27) A triangle and a parallelogram constructed on the same base have equal areas. The
height of the parallelogram is 5 cm. What is the height of the triangle? / Ud fArior 3R JHiaR
TGYS S UM STYR TR T91E 914 € 3% &% d U ¢ | HHTGR agys 31 SHars 5 I 31 Bl
Tt TS |1 7?2

1.10 cm /10 Gt
2.12cm /12 94t
3.2cm /Zﬁfﬁ
4.5 cm /5@'1:?[

Correct Answer :-

« 10cm /10 91

28) The LCM of 3a and 15ab is: / 3a 3T 15ab Wﬁgﬁﬁmé:
1. 13ab

2. 15ab

3. 14ab

4, ab

Correct Answer :-
e 15ab

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect
combination: / 12 &Y 1§ e #, 3r&RY 3R Wwmai &1 vP Hu fHfgd &1 Tera Tuie vgaAe:

i.hpopr8752rpoph
ii.hpopr8752rpoph
iii.hpopr8752rpoph

iv.hpopr8952rpoph

4. iii

Correct Answer :-



30) Find the average. / 3Nd fAeiferd |
33,40,47,54,61 & 71

1. 55

2.51

3.49

4. 53

Correct Answer :-

Topic:- Science and Simple Arithmetic

1) & sk
FEE_ 1 thenx= /o ZE_1 Grg=

3

2x 2x

1.6
2.8
3.4

4, —8

Correct Answer :-

2) The area of the floor of a rectangular hall is 960 sq cm. If carpets of size 6 m x 4 m are available,
the number of carpets required to cover the hall is: / U HTAIWRI Glel ol wY FT ST5eT 960

T GAL B afe FRAC FT 3TeeT JER 6 AL x 4 AL &, dl §lel HT B & oha & T
FRUC T Haedd T = g

1. 45
2.40
3. 80

4. 60



Correct Answer :-

e 40

3) | —
The value ufﬂ|248+ V52 +4144== J

I —
x,'zﬂ.rs ++/52 +144= =7 = =T BT

1. 16
2.28
3.32

4. 18

Correct Answer :-

4) If the adjacent angles of a parallelogram are in the ratio 1:3, then the smaller angle is: / afe qHiaR
TGS F =T BIVN BT 3IUT 1:3 B, A BT HIVT F7=1 gH:

o

1. 45

o

2.40

o

3.35

o

4.75

Correct Answer :-

o

. 45

5) If a circle has a perimeter of 44 cm, then find its diameter. / qﬁ@ﬁ?ﬁqﬁﬁl 44 T, %, ?ﬁ%’\‘lﬂ
T [T P

1. 12 cm/ 12 9.
2.10 cm/ 10 T,
3. 16 cm /16 9HY.

4. 14 cm / 14 9.

Correct Answer :-



e 14cm /14 39

6) What is the probability of choosing a vowel from English alphabet? / 3ot quinrar & Uph TR &
Jafd g Bt fFa-t wilRear §id @2

1.0

2.1
21

3. 26

5

4, 26

Correct Answer :-

7) Spot the wrong statement about multicellular organisms. / aga?r&aﬂu Sital & fawa § Tea 9w &1

TG B |

1. Each kind of cell is specialised to perform a specific function / UAP UHR Bt HIfhT fafkre w1d H7 &
fau it &

2. All cells perform life functions / gt aﬂﬁmq St daeh Tt e Heat % |
3. All cells are identical / G4 m JHR=Y m % [
4. Each cell can exist on their own / U DIRBT BT 3T 3HRKTd gidl g

Correct Answer :-

« All cells are identical / GH BIRTBTT FHR=Y il &

8) In a plane mirror, a virtual image is always formed: / FHdA guur ¥, 3yt ufafda w%aw
ffifa gt @

1. Behind the mirror / GYUT & U
2. Behind the object / ¥ & Ul
3. At infinite distance from the mirror / GUUT § 3fd E'{\ﬁ W

4. In between the object and mirror / 9% Td U & g

Correct Answer :-

o Behind the mirror / E"cfuT Y]



9) Name the structure which segregates the cell content from surroundings in an animal cell? / 39

HERAT BT AT IA13E, Y U] BIRMGT A 3M9-URT & TR & BIRMGT 3raua B guapd Hdl 872
1. Nucleoplasm / B GH

2. Nuclear membrane / T fefecit

3. Cell wall / IRIbT T

4. Cell membrane / DIRIHT farect!

Correct Answer :-

e Cell membrane / aﬁﬁm‘r %I('_(“ﬁ

10) Wheat is a monocot because: / 71§ U& diel T § Fife:

1. It has a fibrous root system / sﬂﬁw g Ot %I

2. It has compound leaves / 39H Igad ufyai g

3. The vascular bundles are arranged in a ring / G819 sSd aoid H Tafyd g1

4. The leaves of the plant have reticulate venation / Uit @1 ufral § Sferet Ut RRT =41 B

Correct Answer :-

« It has a fibrous root system / 3TH ISR I JUaH |

11) The value of m, if 7™ =343 g, ] afe 7™ =343 g d m &1 94 91 gNm:
1.5
2.3
3.4

4.2

Correct Answer :-

12) The least number by which 36 can be multiplied to make it a perfect cube is: / g8 BT A
B IE =T 8 FoRT T 31 WR 36 Yuf a1 94 91C;

1.6

2.5



3.3

4.2

Correct Answer :-

e 6

13) If the selling price = Rs. 713 and its cost price = Rs. 620, then gain percentage is: / gfe
ot avg &1 fasha Yo = 713 U, 3R ST 9 T = 620 I B, ot a1y wla=ra f=1 ghm:

1. 15.5%
2. 16%
3. 19%

4. 15%

Correct Answer :-
e 15%

14) The example of connective tissue is: / TSI HdP BT TP I&TeU 8:
1. Cartilage only / & Iufy

2. Bone only / b aify

3. Blood only / b e

4. All the above / G'Clqa?‘fﬂlﬁ

Correct Answer :-

« All the above / STgad Tt

15) Asexual reproduction in Amoeba takes place through: / 3T # Srafire s 3‘\“@? HIH

A g g:
1. Regeneration / YT®gd

2. Budding / Hp
3. Binary fission / glaeed

4. Fragmentation / faeeT

Correct Answer :-

e Binary fission / HACICR!



16) Opposition to the construction of large dams is due to: / S8 gitl & fmfor &1 faRiy 59

PRI YT &

1. Environmental reasons only / b mafarofig wrRu
2. Economic reasons only / 4 anfife wrur

3. Social reasons only / Rt IS HROT

4. All the above / ITgad T+t

Correct Answer :-

« Allthe above / Iudad Tuft

17) The length, breadth, and height of a cuboid are in the ratio 6:5:3. If its total surface area is 504 sq cm,

then its volume is: /WW“@M,WHWW&S&%Wﬁ%I ﬁmwmm
504 T T, B, A 3BT RIA =1 g

1. 700 cu cm / 700 I TH,
2. 728cu cm / 728 T I,
3. 640 cu cm / 640 I THY.

4. 720 cu cm / 720 9T IHY,

Correct Answer :-
e« 720 cu cm /720 9 T,

18) If Rs. 600 amounts to Rs. 683.20 in two years, when it is compounded annually, then the rate of interest

per annum is: / Af¢ 600 TUY ATY® =T A Thgfex P U & a4  683.20 FUA Bl 91d &, ST &% =7
gt

1. 10%
2. 8.5%
3. 8%

4. 9%

Correct Answer :-



The adjacent sides of a rectangle are in the ratio 5:12. If the perimeter of the rectangle is 34 cm, then the
length of its diagonal is: / 3T BT SRI~ YSIT3HT BT ST 5:12 81 Al 3mad BT URHATT 34 Jt. 3, @Y
3% fapl 3 dard A giii-

1. 12cm / 12 99},
2. 1lcm /11 I¥.
3. 10cm / 10 9.

4,13 cm /13 99,

Correct Answer :-

e 13cm/13 99

20) If a crystal of potassium permanganate is kept in a beaker containing water, the water becomes pink
after sometime. What characteristic of matter is inferred through this observation? / '!TI% tﬁm TR'a"ﬁE
BT TP 391 TP oI Jord A | IWT Y ot $©B JHY UYTd 98 ST TATal 81 STl 8 | 39 W& & gRI
gerd 3t B At fa=iwar s ffa & smawdt 32

1. Particles of solids break easily when pressure is applied on them. / B & HUN R Ga1d o 9 d A
3 ge o

2. Particles of matter have space in between them. / qﬂTﬁ > PUN & dIF aRTA Eﬁ?ﬂ % I
3. Particles of solids are tightly bound and they are rigid. / B B HU HID §Y Bﬁ?f % dyl<e fﬂﬁ %I

4. Particles of liquid are loosely bound and they can flow. / &9 F HU A §Y Epl?f % aura EIHT%T‘[ _E:Pf ghd % |

Correct Answer :-

 Particles of matter have space in between them. / qﬂTﬁ > PUN & §IF aRTA Eﬁ?ﬂ % I

21) Which one of the following is a thermoplastic?/ e dasaar TS diqgdaca 4
1. Melamine / ATTHA

2. Vulcanized rubber / deeh{-id dg
3. PVC / GidTet

4. Bakelite / ShATSC

Correct Answer :-

. PVC /TR

22) When a bar magnet is cut into two equal parts, then: / 5T U g8 JH P & SRR HTT § STeT ST %,
ar:



1. One part will get north pole and the other part will get south pole / Tdh YT Il gq B OaT 8 8iR
SIRT HIT Sfaroft ¢fa gt o g

2. Magnetism of both the parts will be lost / G YT ol ELSCACICNIRTIG] %I
3. Pole strength of both the part will be increased / Gl YT Y gd e & ?{@ B T B

4. Each part will become a magnet / Td® HIT UPh i g N1l %I

Correct Answer :-

e Each part will become a magnet / Ud®H U IHh D d STdl % I

23) Solar cells are made up of: / ?ﬁ? Jd Eﬂa? CE| ﬁ?r %
1. Insulators / sﬁéa

2. Semiconductors / G ATAD

3. Superconductors / NIREINED

4, Conductors / dTdh

Correct Answer :-

e Semiconductors / &W

24) Which kind of muscle gets tired by prolonged periods of activity? / g ypr 1 U=t @<t nfafafer &
ERT Y& STt 82

1. Cardiac / _@'Etﬁ

2. Muscles will not get tired / BRI T8l Yl %
3. Striated / YRIGR

4. Non-striated / 4RIRfgd

Correct Answer :-

« Striated / YR al}

25) Which of the following provides polar bear insulation against extreme cold? / fafafadd &

RIP 58 & favg YIT HIg B! e g™ HIa1 82
1. Pointed mouth / &0 &
2. Fat layer / 9T URd

3. Huge size / aRMTd TR



4. White fur / GG B

Correct Answer :-

e Fat layer / 9T URd

26) Which of the following is an example of contact force? / Fuafafeada a4 Udh TUd 9 BT Jqlexul
82

1. Magnetic force / ?ﬁaﬂnw
2. Electrostatic force / fRR 3gad §@
3. Gravitational force / W Chl

4, Frictional force / ‘aﬁffaa

Correct Answer :-

o Frictional force / ‘El'lﬁaﬁ

27) One of the functions mentioned below is not performed by the ‘C’ shaped cartilaginous rings in the

trachea. Identify the same. / ﬁﬁquﬁﬁﬁwaﬂﬁmﬂ?ﬁﬁ 'C Wﬂﬁmgﬁ
o gRT e foran wmar 31 39 g

1. It provides support / I3 TP UG Bl %’I

2. It helps in the absorption of O3 / I8 03 & ARVl H HGG Hdl gl

3. It allows uninterrupted flow of air / I8 &aT & 3ifafed UaTE @ /Al a1 8|
4. It prevents collapse of the trachea / T8 %9 FTcit & fAUTd &) bl §

Correct Answer :-

« It helps in the absorption of O, / T8 05 & 3@Vl H HGG HRdl gl

28) Eind the quotient: (4x® —2x% = 3) + (227 - 13'/ (4x% —2x% = 3) + (2x* - 13'a>‘rmn7m’—crs|m
Hifore|

1. 2x +4

2. 2x —4

3, 2x+1

4. 2x—1

Correct Answer :-



29) thevalueof @+ 0 —(a—b)*=____, (a+b)?—(a—b)* o qme fre ghm:
1 z(az +b?)

zab

3, dab

4. 2ab

Correct Answer :-

(3x +5)° and (61 - X}D, the angle is: / af¢ &

30) If the opposite angles of a parallelogram are
TuieR T ¥ frada s 3 +5) qo7 (61 —2)° & G oy ey &

o

1. 47

o

2.50

o

3.74

o

4. 48

Correct Answer :-

o

o 47



